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1.1 GEHTRAER, Hroa kE R
(1) FHr>1, nr>t+n(r—1), n>1;

2
(2) Zr>1, MY >3 6, r">'24—(r_—1-)’;

(3) &' n ‘—I<\—/%; v

1 . (2n—1)1 -1
Sy (2miyy <vmiit
1

(5) BAS1R, o5+ gt ot <1

1
P
(6> (1+-al)(1+az)---(1+a..)>1+al+az+~-+a,. (3
Hay, g, e REFS AT 1 805);s
(7) 2"'>n 5 2"=1>2(n—1).
1.2 EHTHER,

..on+1° oA
sin-—"xsin . %

(1) sin x+sin 2%+ +sinnx= . 22 |
cin *
2
(2) oS X+ COS 3x%+ -+ cos(2n—1)x= N2M%
2sin x

x x x x sin x
(3) cos>cos-cos -+rcos; = T 0T

2 4 8 2" x}

. X
2" sin—
2’!
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(4) arctg ; + arctg ;+---+arctg-2—1—- arctg~:}—_—i.

AT fO=x+1, F fR)RI[f(x)]2,
W F(x)=c¢c~, FI],
(1) F(x). (Y )=F(x+y);

Fx.
(2) Py
1w F(x)=1g(x+1),
LW F(y*~2)—F(y—-2)=F(y).

i Fex) = ﬁ‘;:bg_ K FW+F(~y), 3#

=F(x—y).

EY f(20) - f(— 20 =[O~ [f(~012.

4 2* _1<x<09
54 w(x)=§ 2, 0<Tx<1,
x—l, 1<x<3’

K @e(3), @(2), @(0), ¢(0.5), ¢(—0.5).
lsin 2], |# <1,

O’ lx] >1’

. Ja ' a1

ke o(4), o (~2). o

f= (T o, Hob fo0=xt—xt 3,

% <p(x)={

0 R FORFHT: flety)=F)+ (), Mung

fQO)=0, pf()=f(px) C pRIFETRH) .
R B E T 5 i ¥ SO



2%
R A s

_ 1y 1+x

3) y= s/.‘H—.aH"I (1

(4) y =log,(log; x);

x
(5 y——;g;;;

(6) y=lgsin x,
(7) y=Ilg(1—2cos %)y

(8) y=J3"x+arcsin 3—'523‘ .

112 BRMAENA GETROEHTSEHERHAR
s =§—gt2 R, O E R R SRS T (2)

%ﬁﬂS~“Wﬁ%Xﬁxmﬁz
113 FRA&ED, &% (05 g0 SERT

(1) f(x)=In %2, g{x)=2ln x;
w>ﬂw—j{f gn=[2=1,
() f(D=Yx"x%, gx)=x¥x—1.

1,14 SRR 46 5% B ER s
(1) y=x2—2x,
(2) y=¥=x*+1



(3) y=log.(x+ JWT);

2
2°+1!

Gy =¥t 15w +¥%— 15 s

* g in¥—1
(6) y—-1+251nx+1;

(1) y=sinx, xe[%, ﬂ‘—]

2 .
.15 Tﬁu‘m%@&m%%gmmgmﬁﬁém\z?
(1) y=J2=x*, (2> y——-—cosi;—,
(3) y=2% - (4) y=Ig sin x,
(5) y =sin® 524 (6) y=arctg (cose _TX’“),
(7) y=In*lnx*; - (8) Y =arccos/log, (x¥*—1).
16 R y=FfOREICRREL0,1], REUT BB E X s
(D f(**)s  (2) f(sinx),

‘3 f(x+a) (a>0), (4) f(x+a)—f(x—a) (a>0).
7 EMENY =T mmgR y<o0, y>1, Ry

x
B S |

.18 iﬁf(x):x+1,‘qv(x)=-lf%{2—, K flox)+11.

9 el =2 P(x)=2%, Koele], plpx)],
P[P ]s vlox)],

20 @f(xri)=2+ L g fen.
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1% f(slin;)f—-—él—l-cos x, f(cosfzi),

. __ax+b _lx+m o
= f(x)*c:x‘_*_‘a, (x)~‘—————nx+l, ﬂb-c_m.n,

WA flo)]=plf(x)].
& fu(x)=f{f[---f(x)1}, %% f(x)=a+bx, if

® o Seamand
/N

b1 ..
f,,(x)"—-‘:a' b‘_l 'T’b X,
2x, x<.0,
1’ f(x)= - p(x)=x~1, R fle(x)].
0, x>0,
. 2x, 021,
% f(xd)={ g(x)=lnx,3R f[g(x)]Fn
x?, 1<x<2,

glf()],
) 1, [« <1, ‘
% f(x)=,{ 0, |« =1, p(x)=e*,
-1, |¥] >1,
K fle 1R elf(0)],

BRE—AKI a EFHRKE, AKEMBERAE
/N B, RIEFRSOTMAR—EEOH, KB
R ERS B L NI R K AR EXR,

TR THEN 21, RS HREHEESEEV 8
Y A R B GAR,

WHARDN 10m® QL RIEBHE, KA, e
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1.30

1.31

1.32

1-33

1.34

1.35
6

BMAHBEERHSIMIT OB ki — A, % OM BR
B5OMMKEEHKRTIL, XEMOM=4 $fp
HARAH 8 ¥4y, MRKOMPFE 5 KERM XA,
—YIRIEERED), CHNEABKNSHE SRR
BEARIEEE, HETRIZ, S#¥E 1n/s & & S5
B71 029, & BZH S R R R,
RL@—&/Kih, ik 50m, 856ERFHE 1-1 5F
TRs AT BERRE A M UKEO S (AR RE 1
M, FTIEK A s B EAR IR, W KRG B
BEAT L AR /KB o e Ty 3R 3 M 48 2 7 00 5 B %
AR, HEHEKT ()8 E .

Ji& AC=b, % BD=h =% ABC th(LME1-2),
MEER KLMN, gk *, REEHNE <
MEH S &K K&K,

» 1-1
BFEAERMEICHEE 1m R CRE1-3), H345
FIFET 3m.2m,1m, FIEMA 1m, Fix(—ocola<l
+oo)EGR B (M B AB 8 L1715, iR K 1
BB e TRIB S 200N B 5 X iR ER 4L,

NEH A 1-4~ B 1-7 FoRef SR 507 % 4R,



& 1-8 H 1-7
.36 i o(x), YOR f(x)HBIEREY, EHE
PO F(RD<P(x), W] @lo(0) I F () ISPl 1.
1.37 EHRTHERHHERATEN T MERERK ? H8

RIFFTIEBERK ?
(1) y=x'cos xy (2) y=1g_1i.:g_,

(3) y=x—x% (4) y=In(x+ Ji+2 ),
| 7



(5) y= a* +1
138 AR fOME 2f(0+ 1 (1)=2, o puw,

WEBR: f(x) R 7F %,
1.39 GE#: Fie f(0) BREXE (=1, 1) B 2K &
%i,f(x)+f(——x)%{%@ﬁ.f(x)—f(~x)>%%$®§§c.
1.40 iE8,
(1) WME@EBE R, 2, 8, 1 18, BB 3K
(2> P17 el BB 704 37 BE %5
(3) BRI B,
(4) FFER* 5 (i R AL B h AT R 3L,
(5) FEXMEL—1, 111045 R B0 £ % — Af%l?ﬁﬁ
H— A E A,
1.41 & f()ly 3y %y, g(x)ﬁ{%h_ﬁi&, REETINEE
BR1 B AT 4 1
fla®) 1, glfo1, flf(o].
1.42 Tﬂ%@ﬁﬁ%ﬁ%ﬂ%ﬁmﬁ?X}‘ﬂ:f‘?ﬁﬁm%{a‘uﬁﬁ
W
(1) y=sin®x,
(2) y=1+tg x
(3) y=cos(wt+@) (@, 6 HEB);s
(4) Yy=xcos x;

(5) y=sinx+ 2sm 2x+ %sm 3x.-

1.43 BFTFHXEER.
(1) sh(atf)=sha-chftcha-shp,



(2) ch(atf)=cha + chf+sha - shpf,
_ _sh(xxy)

(3) thxtthy Chaewchy 3
(4) chx—ch y=2sh%(x+y)sh %(x-—y).

1.44 {EHTRE N EE,
(1) y=-— Ix_—ZI s

—x*ly x<—'1)
(2) f(x)=1< o0, —1<Cx1,
: x+1, —3<Cesl—1,
(3) f(x)=
xt— 2x— 3y "1<x<3.
1.45 BR (0L 2 AEM, #A
x2, —-1<x<0,

f(x)={
0, o<<x<1,
RFE(—o00, +oo) FEH y=Ff(X)REF.
1.46 FIH y=FBEE, BELy=Ff(x+a)+bHWEE
Wk, RETHERNERY.
(1) y=x*—4x+ 4;
(2) y=log.(x+2)+1 (a>1);
(3) y=a**'+3 (a>0, a#1),
1.47 FRA y=fOWER, HESy=F (ax) HEER FH
B, EHRTREKROERE.

(1) y=sin 2x, (2) y=cos —%—x,

(3) U=e"“.



